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20 4 (kg) | &kE(H) wi | o | wem | PEE | (i)
30100 |72V A 20| 324 22 22 11 BH 20
Y3002 |=# (441) 4 3,629 1,728 432 432 | B dkg
31200 | [LIHE 8 1,361 32 32 32| /A 423K
32600 | %45 2 680 76 76 76| B 94%
31950 |HAE 6 4,320 216 216 216 BN 203K
31900 ¥ 3 1,750 648 648 648 | B 3kg
34140 |PUHEH T 4| 1,728] 86 86 86/ 151 207
34500 |E—~ > 8 1,901 238 238 238| B 8kg
34570 | X7 Y % 2 1,134| 65 65 49| 15 2048
35220 | % 02 & BT 3 3,564 1,188] 1,188 1,188 M 3kg
Y3033 | ZZAHAL 388 49,777 216 216 32|BH 388kg
37200 |L x 57t 12 3,888 432 270 270| 5 12kg
33410 |[r=—1L & 2 4 1,944 108 108 108 &5 184%
Y3017 |tV 2 2,700 1,404 1,404 1,296 | 5 2kg
Y3030 AL (52) 2| 2,592 1,296 1,296 1,296 B/ 2kg
34800 | #< 5 1 680 76 76 76| B 9% v h
37300 |FF¥EF 0 65 32 32 32| B PR
30105 |HEREF VT A 10 108 11 11 11| 107
41410 [LE> 2 1,296 54 54 54| k1N 2418
46108 | S 25IZ D1 2 2,916 486 486 486 E5 675y 7
21011 |27 L —% 7,920 66 66 66 574 120K
21030 | K& 2,365 33 33 22| 8074
21032 | KI€F () 1,562 44 44 11| & 704
71040 |3 A% 1, 408| 66 55 55 2474
21187 [ v v F Y 7 —F 220 22 22 22| BN 107
21212 |7+ v IV AT =4 R 264 66 66 66 5N 4K
21286 |7 i—H v 1,892 77 77 66 551 267
53456 | 7772l 3] 1,296/ 432 432 432| 3kg
30100 |72V 12 A 70 2,862 43| 43 38| E I 704
30200 |75 5 162 11| 11| 11| B 157
30300 | A% 36 6,912 76 54| 54| E I 1204%
30300 | A% 60 6,480 1,080 1,080 1,080 Hi 64—
30400 | Z1F 5 9 2, 506 86 86 86 BELE  29%
31100 | 1% 135 11,286 1,206]  1,242] 1,242 IR 1947 — 2
31100 |f13E 45| 3,888 1,206 1,206  1,206BEVEE, 3/ —%
33810 | HHE 4 1,296 65 65 65 HEVE K 1204%
31700 | v~ 10 335 335 335| 335 K4y 1 —2
31700 | ¥ ¢ 190 4,201 270 270 173 ERE 194 —=%
31800 135 hA& 10 7,290 151 151 140 K4y 5048
31950 fiX 6 2,916 1,512 1,512 1,404 Eis 2hr— 2
31900 n¥F 5 2,916 324/ 324 324|EEE |9 (500g)
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K COBGREMR i H
Pk (ke) @) mh | wE el PE (BAL)
2 L 20| 4,752 1,404 972§ 972 REA 44— 2
24 10,584 1,836 1,728 1,728 K4y 64— 2
M 2 1,944 162 162 162\ ERE 12592
10 2,729 144 144 144 | = 1948
L 20 4,752 1,188 1,188 1, 188 HEA 44— 2
L 70 24, 192 1,836 1,728 1, 620 = 1447 — 2
5 945 38| 38 38 | E I 25%%
0 162 162 162 162 VR 14
1 778 130 130 130 | #E[E 618
1 972 162 162 162 #[E 6{H
4 756 108 108 108 i 8 5 T4
2L 90 8, 640 1, 080 972 864 | Aty 94— A
10 1,188 119 119 119 =W 10kg
LK 60 6, 264 2, 160 2, 052 2,052 | b 3=
2L 4 1,188 1,188 1,188 1,188 |H[H 17 —A
2 778 65 65 65| BEVE 1218
1 432 162 162 108 | 1= REN]
2 1,037 130 130 130 | Rl 81
11 4,212 130 108 108 | HE V2 36{#
4 2,376 59 59 59 = I 4048
6 3, 240 54 54 54 &I 6073 7
4 518/ 65 65 65 = 84%
3 146 16 16 16 |REAR 9f&
5 2,970 119 119 119 | & fiF] 254%
15 2,079 32 27 27\ K%y 754%
2 335 22 22 12| K45y 205
1 1,404 216 216 162 K45y A4
5 1, 404 28 28 28| LIRS 504%
200 34, 992 1,836 1,836 1,620 REA 204 — A
M 20 2,808 1,404 1,404  1,404|FEVLE; 27— A
14 3,024 22 22 22/F Y 1401#
15 3, 456 2,700 756 756 | £ Bf 2 — A
65 13, 154 1,080 1,080 864 | f@ ] 137 —=
120 14, 634 1,944 1,728 7567 4 UL 104 — R
20 1,080 54 54 54 |8 IR 20kg
1,907 320,259 ‘ :



